Nearest 10 | Nearest 100 Nearest 100 000 Nearest 1 000 000
2 363 231
6 273 212
7 346 654 = + 300 000 + 40 000 + + 654
4768 133 =4 000 000 + + 60 000 + + 100 + +
= 8 000 000 + 560 000 + 687
43+908= +12=-3.28
1.3+409:= 46 + =7.67
45+301-= b7+ =12.71
4x1%= 6x 11/3= 8 x 33/4-= 12x22/3=
Nearest 10 | Nearest 100 Nearest 100 000 Nearest 1 000 000
2 363 231
6 273 212
7 346 654 = + 300 000 + 40 000 + + 654
4768 133 = 4 000 000 + + 60 000 + +100 + +
= 8 000 000 + 560 000 + 687
43+908= +12=3.28
1.3+4.09-= 46 + =7.67
45 +301-= 57 + =12.71

4x1%= 6x 11/3= 8 x 33/4=

12x22/3=




Y6 Autumn Term Quick Starts

Nearest 10 Nearest 100 Nearest 100 000 Nearest 1 000 000
9 544 567
7 435765
5715 345
382778
4 347 654 = + 300 000 + 40 000 + + 654
4 467 183 = 4 000 000 + + 60 000 + +100 + +
= 9 000 000 + 250 000 + 687
1.3+9.09 = +1.6=3.68
53+407 = 5.2+ =7.27
15+401= 2.7 + = 1271
14x1%-= 6x 4%-= 8 x 5%= 16x24%-=
Y6 Autumn Term Quick Starts
Nearest 10 Nearest 100 Nearest 100 000 Nearest 1 000 000
9 544 567
7 435 765
5715 345
382778
4 347 654 = + 300 000 + 40 000 + + 654
4 467 183 = 4 000 000 + + 60 000 + +100 + +
=9 000 000 + 250 000 + 687
1.3+9.09 = +16=3.68
53+407 = 52+ =7.27
15+401= 2.7 + = 1271

14x1%= 6x 4 8 x 5 16x24%-=
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Y6 Autumn Term Quick Starts

Nearest 10 Nearest 100 Nearest 100 000 Nearest 1 000 000
623 789
7 896 789
1234 678
4 452 213
2x4x6= 3x2xb= 2x5x6= 4x2x6-=
360+ 9= 210+ 7 = 180+ 6 = 120 + ___ =30
7.36 x 100 = 45 x 10000 = 12 x =120 x 1000 = 65 000
10% of 1700 = 10% of 560 = 10% of 432 = 20% of 60 =
Y6 Autumn Term Quick Starts
Nearest 10 Nearest 100 Nearest 100 000 Nearest 1 000 000
623 789
7 896 789
1234 678
4 452 213
2x4x6= 3x2x5= 2x5x6= 4x2x6-=
360+ 9= 210+ 7 = 180+ 6 = 120 + ___ =30
7.36 x 100 = 45 x 10000 = 12 x =120 x 1000 = 65 000
10% of 1700 = 10% of 560 = 10% of 432 = 20% of 60 =




Y6 Autumn Term Quick Starts

Nearest 10 Nearest 100 Nearest 100 000 Nearest 1 000 000

953 189

7 893 189

1224 678

4 434 913
I1x4x6-= 3x3xb= 3x5x6-= 3x2x6=
40+ 9 = 420+ 7 = 720+ 6 = 240 + =30
5.36 x 100 = 495 x 10 000 = 3.2 x =120 x 1000 = 45 000
10% of 1500 = 10% of 960 = 10% of 632 = 20% of 50 =

Y6 Autumn Term Quick Starts

Nearest 10 Nearest 100 Nearest 100 000 Nearest 1 000 000

953 189

7 893 189

1224 678

4 434 913
1x4x6-= 3x3xb= 3x5x6-= 3x2x6=
540+ 9= 420+ 7 = 720+ 6 = 240 -+ =30
5.36 x 100 = 495 x 10000 = 3.2 x =120 x 1000 = 45 000
10% of 1500 = 10% of 960 = 10% of 632 = 20% of 50 =




